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1. Asperthe National Rainfed Area Authority, the frequency of occurance of drought once

in India
(1) 1-5Years (2) 1-10 Years
(83) 2-5Years (4) >10years

2. Which of the following action can reorient the agricultural system and ensure food
security in climate change ?

(1) Global absorbing system (2) Climate smart agriculture
(3) IPCC (4) All of the above

3. Toactas acountervailing mechanism against traders and businessman who try to push
up prices, especially during periods of shortage of food is one of the component of

(1) food safety (2) buffer stock
(3) public distribution system (4) food security system
4. The 2014 World Food Prize was awarded to who developed 480 varieties
of disease resistant wheat.
(1) Dr. Sanjay Rajaram (2) Dr. Howarth Bouis
(3) Dr. Maria Andrade (4) Sir Fazle Hasan Abed
5. The quantum of is directly linked with the commitments of the public
distribution system.
(1) demand (2) supply
(3) procurement (4) food chain
6. Currently the term is used more commonly to denote identification of earth

features by detecting the characteristic electromagnetic radiation reflected/emitted by
earth surface.

(1) Bioinformatics (2) Reflection
(3) Remote sensing (4) Emission

7. Asthe level of per capitaincome improves over the years the proportion of fabour force

dependent on agriculture declines but that on and services increases.
(1) trading (2) business
(3) money lender (4) industry
oo HMTATS! ST / SPACE FOR ROUGH WORK P.T.O.
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8. Since (after Bengal famine), the system of rationing for equitable
distribution of food grains was introduced in India.
(1) 1941 (2) 1943 (3) 1945 (4) 1947
9. occurs when the waters of the eastern Pacific are abnormally cold.
(1) Cyclone (2) Anticyclone
(3) LaNina (4) EINino
10. Which of the following institutes are now investigating how to make crops more resilient
to environmental stress ?
(1) FAO (2) WMO
(3) IPCC (4) CGIAR
11. Goal of precision farming is
a. High input — high output
b. Low input but constant output
c. Optimised input — output
d. Low input — low output
Which of the above statement/s is/are correct ?
(1) aonly (2) bonly
(3) conly (4) aanddonly
12. In Jhumming cultivation

Land is rotated but crop is fixed
Same crop is grown year after year

It causes soil erosion

e o T p

Soil productivity is lost

Which of the above statement/s is/are correct ?
(1) aonly (2) aandb only
(3) a,bandconly (4 a,b,candd
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13. The earthis considered a black body at about 300° K emitting with peak
emission at around 9.7 micrometre.

(1) electro-magnetic radiation (2) short wave radiation
(8) insulation (4) X-ray

14. Increased insect damage under elevated CO, has been observed in early season

Soyabean, possibly due to increased concentrations of in the leaves.
(1) photosynthates (2) chlorophyll
(3) sugars (4) triglycerides

15. Nitrogen fixed by the Rhizobium is translocated through xylem vessels of the host plant
in the form of

a. Asparagine
b. Glutamine
¢. Glutanin

d. Thiamine

Which of the above form is/are correct ?

(1) aonly (2) aandbonly (3) a,bandconly (4) canddonly
16. A portion of solar radiation, up to in terms of energy is used in

photosynthesis.

(1) 24% (2) 28% 8) 32% (4) 36%

17. Indoor air pollution causes
a. lLungs cancer
b. Pneumonia
c. Tuberculosis
d. Blindness
Which of the statement given above is/are correct ?

(1) aonly (2) bonly
(3) a,bandconly (4) a,b,candd
Heedl TS SR / SPACE FOR ROUGH WORK P.T.O.
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18. Which of the following is not a scenario growing developed by IPCC ?
(1) ISMO (2) RCP’s
(8) SRES (4) 1892

19. Severe climate change challenges to the Agricultural sector are

(1) Rising sea level (2) Droughts
(8) CO, emission (4) Both (1) and (2)
20. is the process of transformation of inorganic CO, through photosynthesis by
plants into organic carbon and sink in soils.
(1) Carbon credit (2) Photosynthesis
(3) Respiration (4) Carbon sequestration

21. The Government of India launched the Targated Public Distribution Systems (TPDS)
with a focus on the poor in

(1) June 1945 (2) June 1946
(3) June 1992 (4) June 1997

22. Which of the following involve art and scientific processes of obtaining reliable information
about physical environment by remotely sensed analog data in digital format ?

(1) Remote sensing (2) Surveying principles

(3) Automated data capture system (4) Photogrammetric principles

23. GPS position information has the accuracy in between

(1) 100to 0.1 m (2) 100to 0.01m
(3) 1000t0 0.1 m (4) 100010 0.01 m
24. Under farming, moisture availability is enough to the crops.
(1) dryland farming (2) dry farming
(3) rainfed farming (4) semi-arid

Heed] HIHMETE! STRT / SPACE FOR ROUGH WORK
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25. In areas where the annual rainfall is in the range of 600-850 mm, is being
recommended and practiced.

(1) double cropping (2) intercropping
(3) triple cropping (4) crop rotation
26. The low analysis fertilizers contain per cent of primary nutrients.
(1) lessthan 25 (2) lessthan 30
(3) less than 35 (4) lessthan 40
27. refers to complementary interaction which occurs both in space and
time.
(1) Relay cropping (2) Sequence cropping
(3) Annimation (4) Annidation
28. leave toxic chemicals in the soil which donot allow germination of
subsequent crops.
a. Sorghum b. Sunflower
c. Sugarcane d. Sesamum

Which of the above is/are correct ?

(1) aonly (2) aandbonly
(3) a,bandconly (4) Alla,b,candd

29. The first cultivated crops in the world are
(1) Wheat and Rice (2) Wheat and Barley
(3) Wheat and Maize (4) Wheat and Sorghum

30. is a very broad term encompassing all aspects of crop production,
livestock, farming, fisheries, forestry etc.
(1) Agriculture (2) Silvipasture
(3) Agronomy (4) Silvi-horticulture

31. is thoroughly mixed for enrichment of farmyard manure (fym) before one
month of application.
(1) Super Phosphate (2) Urea
(3) Muriate of Potash (4) All the above

HeeAT HIHMETS TR / SPACE FOR ROUGH WORK P.T.O.
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32. Which plants are considered sensitive to chloride deficiency ?
(1) Coconut and oil palm (2) Maize and groundnut
(3) Legumes and cotton (4) Rice and sorghum
33. The occupational structure of a country refers to the distribution or division of its
according to different occupations.
(1) population (2) property
(3) wealth (4) income
34. Low real income per head is always associated with a low proportion of the working
population engagedin __ production and a high percentage in primary
production.
(1) secondary (2) basic (3) tertiary (4) primary
35. Naturally, the work force participation rate was in pre-independence
period.
(1) low (2) high (3) minimum (4) normal
36. Which of the following crops export has began the scientific agriculture in India ?
(1) Sunflower, Mustard, Safflower (2) Wheat, Rice, Barley
(3) Sugar cane, Cotton, Tobacco (4) Cotton, Tea, Jute
37. Which clouds give good amount of rainfall in the middle and high latitudes ?
(1) Alto - Stratus (2) Alto - Cumulus
(3) Nimbo - Stratus (4) Strato - Cumulus
38. Mobile nutrient ions in soil are

a. SO, BOS=, M+

b. K* Mg*t, Cu**
— +

c. Ca¥, Zn*, NH;

d. H,PO,, HPO,=
(1) aonly (2) aandb only
(3) a,bandconly (4) a,b,candd
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In C, plants, phosphoenolpyruvic acid carboxylase has very high affinity for carbon
dioxide and high potential activity. Therefore

a. C, plants have higher photosynthetic rate than C4 plants

b. C,plants are said to be drought resistant as they are able to grow better even
under moisture stress

c. G, plants translocate photosynthates more rapidly

d. Some C, plants can photosynthesize even when carbon dioxide concentration
is 100 ppm

Which of the above statement/s is/are correct ?
(1) aonly (2) aandb only
(3) a,bandconly (4) Alla,b,candd

40.

During the process of , ammonium is converted into nitrate by Nitrosomonas
bacteria.

1) nitrification (2) mineralisation
(
(3) mobilization (4) immobilization

41,

in a country i.e. proportion of working population to total population,
depends upon such factors as age and sex composition, attitude to work, availability of
work etc.
(1) The work force participation rate (2) Economic progress

(3) High GDP (4) Man power

42.

From the agricultural point of view which structure of soil is most desirable
(1) Platy (2) Crumb (3) Columnar (4) Granular

43.

Consider the statement about Water requirement of different crops.
Sorghum — 450-500 mm

Gram — 250-400 mm

Pigeon pea — 70-140 mm

Groundnut — 500-700 mm

e o o p

Which of the statement/s given above is/are correct ?
(1) aonly (2) conly (3) aandbonly (4) a,b,candd
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44, Consider the following gases

a. CO,
b. N,O
c. CH,and O4

d. Chlorofluorocarbons

Which of the above are the green house gases ?
(1) aonly (2) aandb only
(3) a,bandconly (4) a,b,candd

45. Among the following fertilisers which is/are also known as organic fertilisers ?
a. Ammonium nitrate

b. Calcium ammonium nitrate
c. Urea
d. Calcium cyanide
(1) aonly (2) aandbonly
(3) a,bandconly (4) candd only
46. is the physical condition in which soil is an optimally loose, friable and

porous assemblage of aggregates permitting free movement of water and air, easy
cultivation, planting, unobstructed germination and root growth.

(1) Soil structure (2) Soil texture
(3) Soail titth (4) Tillage

47. Hydraulic conductivity is
a. Higher in heavy soils under low water potential
b. Higher in sandy soils under low water potential
c. Lower in heavy soils under low water potential
d. Lower in sandy soils under high water potential

Which of the statement/s given above is/are correct ?

(1) aonly (2) aandb only
(3) a,bandconly (4) a,canddonly
48. assures reasonable prices so as to remove all exploitation of the farmers
by dalals and arhatiyas.
(1) Market yard (2) Regulated market
(3) Co-operative marketing (4) Weekly markets

ool HMTETE! ST / SPACE FOR ROUGH WORK
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49. The Government intends to use the income tax assessee’s criterion to eliminate

non-eligible families for from public distribution system.
(1) Wheat (2) Rice
(3) Sugar (4) Wheat, rice and oil
50. Staatz in 1990 defined as the ability to assure on a long term basis, that the
food system provides the total population access to a timely, reliable and nutritionally
adequate supply of food.
(1) Public distribution system (2) Food safety
(3) Rationing system (4) Food security

51. Amongst the following statement/s which is/are correct ?
Monocalcium phosphate is water soluble phosphoric acid.

a.
b. Dicalcium phosphate is citric acid soluble phosphoric acid.

o

Tricalcium phosphate is insoluble phosphoric acid.

d. Super phosphate, triple super phosphate and ammonium phosphate contain P
in the available form of phosphoric acid.

(1) aonly (2) bonly
(3) a,bandconly (4) a,b,candd

52. Consider the plants

a. Sesbania aculeata

b. Sesbania speciosa

c. Sesbania rostrata

d. Pongamia glabra

Which of the above are leguminous plants ?

(1) aonly (2) bonly
(3) a,bandconly (4) a,b,candd
HEAT KIS AN / SPACE FOR ROUGH WORK P.T.O.
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53. The IPCC for climate change has estimated that by 2100 the global average surface
warming will increased by

(1) 1.1t04.0°C (2) 1.1t06.4°C
(3) 2.11t05.0°C (4) 2.1t07.4°C

54. What is the full form of UNFCCC ?

(1) United Nations Framework Conduct on Climate Change

(

2) United Nations Focused Centre on Climate Change
(3) United Nations Framework Convention on Climate Change
)

(4) United Nations Fraternity Confederation on Climate Change
55. Nanofertilizers are having times less requirement as compared to
chemical fertilizers applied to crop.
(1) 40-60 (2) 60-80
(3) 80-100 (4) 100-120
56. First hybrid rice was developed by in 1976, the father of Hybrid Rice
Revolution.
(1) Professor Yuvan Long Ping (2) Dr. M.S. Swaminathan
(3) Dr. Norman E. Borlaug (4) Barwale B.R.

57. Which of the following crops have an inherent quality to trap the moisture from lower
strata of the soil and they are considerably moisture stress (drought) tolerant and fits
well in rainfed environment ?

a. Cereals
b. Pulses
Oil seeds

d. Fibre crops
(1) aonly (2) bonly
(3) banddonly (4) candd only

el HIHTHTS! SRT / SPACE FOR ROUGH WORK
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58. In which part of India shifting cultivation is practiced ?

(1) Eastern Himalayan zone (2) Western Himalayan zone
(3) Lower gangetic plane (4) Western Plateau and hill region
59. represents cropping patterns used on a farm and their interaction with

farm resources, other farm enterprises and available technology which determine their

make up.
(1) Farming system (2) Farm enterprises
(3) Mixed farming (4) Cropping system

60. Direct Solar radiation measuring instrument is
(1) Barometer (2) Sunshine reader

(3) Hygrometer (4) Pyrheliometers

61. Tenantis deemed to have purchased land on tiliers day as per Maharashtra tenancy
and Agricultural Lands Act if

i. such tenant is a permanent tenant and there of cultivates land personally.
ii. such tenantis not a permanent tenant but cultivates land leased personally.

iil. such tenant to whom the landlord has not given notice of termination of his

tenancy.

iv. such tenant to whom notice has been given but landlord has not applied to

Mamlatdar for obtaining possession of lands.
(1) iandiiare correct (2) i, iii and iv are correct

(3) iiiand iv are correct (4) i, ii, iii and iv are correct

62. Section 10 of Maharashtra Land Revenue Code 1966 associated with which of the

following provision ?

(1) Survey Officer (2) False statement
(3) Attempts and Abetment (4) Temporary vacancies
el HIMMEIS! ST / SPACE FOR ROUGH WORK P.T.O.
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63. Which of the following means sugar as per the Essential Commodities Act ?

Any form of sugar containing more than ninety percent of sucrose, including
sugar candy.

Khandsari sugar or bura sugar.
Crushed sugar or any sugar in crystalline or powdered form.

iv. Sugar in process in vacuum-pan sugar factory or raw sugar produced therein.
(1) onlyicorrect (2) ii, iii and iv are correct
(3) onlyivis correct (4) i, ii, iii and iv are correct
64. The first day of referred to as “the tillers day” as per Section 32(1) of the
Maharashtra tenancy and Agricultural Land Act, 1948.
(1) March 1947 (2) June 1967
(3) April 1957 (4) August 1977
65. Match the following in view of Maharashtra Land Revenue Code 1966.
Sections Provisions
a. 13 i. Disposal of intestate occupancies
b. 34 ii. Powers and Duties of Revenue Officers
c. 38 iii. Penalty for so using land without permission
d. 45 iv. Power to grant leases
(1) a-ii b-i c-iv d-iii
(2) a-i b-ii c-iii d-iv
(3) a-ii b-i c-iii d-iv
(4) a-iii  b-iv c-i d-ii
66. As per Section 6 of the Biodiversity Act, 2002 an application for intellectual property

rights is to be made only with the approval of

(1)
(2)
(3)
(4)

National Biology Officer
Central Environment Minister
Central Standards’ Officer
None of the above

HeHT HIMTETS! AT / SPACE FOR ROUGH WORK
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67. As per Section 45 of the Protection of Plant Varieties and Farmers’ Rights Act, 2001
the Central Government shall constitute a fund to be called as the

(1) National Wildlife Fund (2) National Gene Fund
(3) National Farmers’ Right Fund (4) National Geo-political Fund

68. Observe the following statements in respect of National Food Security Act, 2013

Statement | : Section 14 of the Act deals with Constitution of State Food
Commission.

Statement |l : The purpose of State Food Commission is to monitor and review the
implementation of this Act.
(1) Statement | correct; ll incorrect (2) Statement Il correct; | incorrect

(3) Both Statements are correct (4) Both Statements are incorrect

69. Asper Section 13(1) of the Indian Seeds Act, 1966 the State Government may, appoint
and define the areas with in which they shall exercise jurisdiction.

(1) Seed Protectors (2) Seed Managers
(3) Seed Collectors (4) None of the above

70. As per Section 9 of the Prevention of Food Adulteration Act, 1954 the Central
Government or the State Government may appoint for such local areas,
and he shall be deemed to be a public servant as per Section 21 of the Indian Penal
Code, 1860.

(1) Food Occupier (2) Food Manager

(3) Food Producer (4) None of the above

71. With reference to Pradhan Mantri Fasal Bima Yojana, consider the following
statement.
a. Under this scheme farmer will have to pay uniform premium of two per cent for any
crop they cultivate in any season.

b. The scheme covers post harvest losses arrising out of cyclones, unseasonal

rains.
Which of the statement/s given above is/are correct ?
(1) aonly (2) bonly
(3) bothaandb (4) Neitheranorb
oAl HIEMETS! SR / SPACE FOR ROUGH WORK P.T.O.



16 K17

72. Aajeevika Grameen Express Yojana (AGEY) provides safe, affordable and community
monitored transport services to rural areas. The vehicles are owned and operated by
(1) Grampanchayat
(2) Co-operative society
(3) Member of Self-Help Group (SHG)
(4) None of the above
73. Production Linked Incentive Scheme for Food Processing Industry (PLISFPI) major
segments are
(1) Ready to cook/ready to eat foods including millets based product
(2) Processed fruits and vegetables
(3) Marine products, Mozzerella cheese
(4) All of the above
74. Key thrust areas of PKVY is promoting organic farming which includes the following.
a. Promote organic farming among farmers
b. Disseminate latest technology in organic farming
c. Ultilize the services of experts from Public Agricultural research system
d. Organize a minimum of one cluster demonstration in village
(1) All four statements are correct
(2) Statement (c) is wrong
(3) Only statement (a) and (b) are correct
(4) Only statement (a) is correct
75. Major components of Pradhan Mantri Krishi Sinchayee Yojana (PMKSY) are

(1) Accelerated Irrigation Benefit Program (AIBP)
(2) Har Khet Ko Pani (HKKP)

(3) Per Drop More Crop (PDMC)

(4) All of the above
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76. Which of the following is/are not feature/s of BDN — 2013 — 2 (Renuka) variety of

pigeonpea recently notified in March 2023 ?

a. Itis recommended for State of Maharashtra, Gujarat, Madhya Pradesh, Rajasthan

and Chattisgarh.
b. It has white colour seed.
c. ltis early maturing.
d. ltis resistant to wilt and immune to sterility mosaic.
(1) a,b,candd (2) bandconly

(3) aanddonly (4) aonly

77. In context of genetically modified mustard hybrid DMH — 11;
a. herbicide tolerance trait has been claimed in the commercial cultivation of
hybrid.

b. is developed by using three transgens i.e.barnase, barstar and bar.

c. is afirst hybrid developed using the GE pollination control mechanism.

d. has shown on average, a yield advantage of 28 % over variety varuna.
Which of the above is/are correct statement/s ?
(1) a,b,candd (2) candd only
(3) b,canddonly (4) banddonly

78. What is ‘Sweet Revolution’ related to ?
(1) Production of sugar
(2) Beekeeping and production of honey and related products
(3) Production of sweet dairy products

(4) Production of processed fruit products

FHeeHl KIS SR / SPACE FOR ROUGH WORK P.T.O.
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79. Which of the following traits is/are not true in respect of chick pea 20211 variety ?
a. lItis high yielding with yield potential of 3915 kg/ha under wilt stress condition.
b. Itis developed via genomics — assisted breeding.
c. ltis developed by collaborative efforts ICAR — IARI and ICRISAT.
d. ltis released for cultivation in Karnataka and Andhra Pradesh State.
(1) aonly
(2) bonly
(3) candd only
(4) donly
80. Under National Food Security Act, 2013, every person belonging to eligible priority
households shall be entitled to receive how much food grains at subsidised prices ?
(1) 2 kg per person per month
(2) 3 kg per person per month
(3) 5 kg per person per month
(4) 10 kg per family per month
81. Which of the following statement/s is/are incorrect regarding “Lumpi-Pro Vacind” technology ?
is developed by ICAR-NRCE equines and ICAR-IVRI I1zatnagar
b. is used for the prophylactic immunization of animals against LSD
c. gives long life protection against LSD after single dose of immunization
d. is handed over for commercial production to IVBP Pune
(1) aanddonly (2) bonly
(3) conly (4) donly
82. In Pradhan Mantri Fasal Bima Yojana (PMFBY) threshold yield is calculated as an

average of best years yield out of last years yield.
(1) 8,5 (2) 5,10
(3) 5,7 4) 7,10
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83. Input subsidy (where crop loss is 33% and above) under National Disaster
Response Fund (NDRF) for sericulture (Eri, Mulberry, Tussar) is

(1) 4800 per ha. (2) 6000 per ha.
(3) 6800 per ha. (4) 13500 per ha.

84. Dihydrate polyhalite is one of the following.
(1) Insecticide (2) Herbicide
(3) Fertilizer (4) None of the above

85. As per Economic survey of India 2022-23, food inflation based on Consumer Food Price
Index (CFPI) climbed to 7 per cent in financial year 2023 from 3.8 per cent in financial
year 2022. Select the two top most drivers responsible for hike in food inflation in

FY 20283.
(1) Meat & Fish and Milk Products
(2) Spices and Fruits

(3) Pulses & its products and spices
4

) Cereals & its product and milk & its product

86. The FSSAI of India has specified a comprehensive group standard for millets Vide Food
Safety and Standard (Food Products Standards and food additives) Second Amendment
Regulation 2023; In this context; which of the following statement/s is/are incorrect ?

Earlier millets were not under purview of this act.
Only few miillets like Jowar, Bajara, Ragi and Amaranthus are prescribed in the
Food Safety and Standard Regulation 2011.

c. By 2" amendment FSSAI has framed a group of standard for 15 types of millets
specifying 8 quality parameters.

d. 2" amendment will be enforced with immediate effect.

(1) a,conly (2) b,c,d only
(3) donly (4) a,donly
ool HIMTETS! ST / SPACE FOR ROUGH WORK P.T.O.
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87. How much is the total budget estimate for Ministry of Agriculture and Farmers’ Welfare,
Gouvt. of India, in the Union Budget for 2022 — 23 ?

(1) 132513.62 Crores (2) 225025.07 Crores
(3) 328011.13 Crores (4) 117308.20 Crores

88. Match the following :

Variety/Hybrid Crop Name
a. TAKPS -5 I. Groundnut
b. NIAW 3624 Il. Sorghum
c. PU-0609 - 43 Ill. Bread Wheat
d K-1812 IV. Urdbean
V. Drum Wheat
a b c d
(1) 1 \ Il v
2 | Vv v Il
(3) 1 Vv vV I
(4) |l i vV I

89. Which of the following statements regarding millet is not true ?
(1) lIts cultivation is declining in many countries

(2) They have potential to address climate change and food security
(3) Their consumption helps in curing cancer
(4)

4) They can be grown with fewer inputs

90. The Union Budget for 2018 — 19 had announced the predetermined principle to keep
MSP at the level of how much times that of the cost of production ?

(1) 1.25 (2) 1.50
(3) 1.75 (4) 2.00
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91. Match the correct pairs :

Schemes Purpose
i. PM—AASHA a. procurement of oil seed and pulses under PSS
and provide remunerative prices
ii. MIS -PSS b. to ensure MSP to farmers comprising of PSS,
PDPS and PPSS
iii. PM-KISAN c. to provide income support to farmer families
iv. PMGSY d. rural road development to improve connectivity
(1) i-a ii-b iii-c iv-d
(2) i-a ii-d iii-b iv-c
(3) ib ii-a iii-c iv-d
4) i-c ii~b iii-a iv-d

92. Who shall be the Chairperson of the National Disaster Management Authority ?

(1) President of India, ex officio

(2) Prime Minister of India, ex officio
(3) Home Minister of India, ex officio
(4) As appointed by the Union Cabinet

93. As per National Import-Export record for yearly analysis of trade; which of the following
States ranks among top three in respect of value in share of export in agriculture
commodity in financial year 2021 —22 ?

(1) Gujarat, Maharashtra and Andhra Pradesh
(2) Maharashtra, Andhra Pradesh and Uttar Pradesh
(3) Guijarat, Maharashtra and Uttar Pradesh

(4) Gujarat, Maharashtra and Karnataka

94. How many APMCs in Maharashtra State are integrated with e-NAM, a pan-India
electronic trading portal, up to Dec. 2021 ?

(1) 76 2 118 (3) 180 (4) 228
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95. In reference to Union Budget 2023 ; Match the followings.
Priority Measures
a. Inclusive development I. Water for drought prone area
b. Reaching the last mile  Il. Digital Public Infrastructure for Agriculture
c. Green growth HI. Skill India digital platform
d. Youth power IV. PM-PRANAM
a b c d
(1) Wl I v il
(2) | I I v
3) v n Il I
(4) Il I v
96. Which of the following are top two millet exporting destination countries (in terms of
quantity MT) of India in 2021-22 ?
(1) United Arab Emirates and United States of America
(2) United Arab Emirates and Nepal
(3) China and United Arab Emirates
(4) China and Germany
97. The KCC Scheme aims at providing adequate and timely credit support from banking

system to the farmers for their needs as indicated below.

a.

To meet the short term credit requirement of cultivation and post harvest expenses
of crops.

Produce marketing loan.
Consumption requirements of farmer household.

Working capital for maintenance of farm assets and activities allied to
agriculture.

Investment credit requirement for agriculture and allied activities.
Which of the above statement/s is/are correct/true ?

a,bcde (2) a,b,conly

a, b, c, eonly (4) a,b,c,donly
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98. What would be the correct sequence of crops in the descending order of their area under
cultivation in Maharashtra State in 2020 — 21 ?

(1) Soybean, Cotion, Paddy, Jowar (2) Cotton, Soybean, Paddy, Jowar
(3) Cotton, Soybean, Jowar, Paddy (4) Paddy, Cotton, Soybean, Jowar

99. In Maharashtra State Budget 2023, Hon. Finance Minister announced Farmer Centric
Schemes. In this context which of the following is/are not correct ?
a. Mahakrishi Vikas Yojna

b. Provide an incentive amount of Rs. 15,000 per ha. to the paddy farmers
c. Maharashtra “Shree Anna” Abhiyan
d. In PMFBY insurance premium of farmer will be paid by the State Government
e. Income support of Rs. 6,000 per year to farmer families who are not covered/
benefited under Central PM-KISAN Scheme
(1) aandconly (2) aanddonly
(3) aonly (4) eonly

100. Match the ranking of crops as per value exports from Maharashtra in 2021 — 22.

Crop Name Ranking (As per value of export)
a. Mango | 5t

b. Grapes 1. 2nd

c. Orange m. 3rd

d. Banana V. 4th

e. Onion V. st

a b c d e
(1) V I m v
2 | I IV \Y Il
3) V I v 0l Il
4) Vv I Il I vV
oAl HHTETS! ST / SPACE FOR ROUGH WORK P.T.O.



SEAL

24 K17

8) e fafga o fafdme Srfa =8 &M (16 9%) HUF. TAEThaafdaiad ITfhar a1
TA HITGTS FHed HIH HedTd d DAt HOATAT ILAH Hel 317, 3 A I3 I FHHR IHGINE
TEAH ST heled “ Thgmel gIom=1 FHriAT Saag Huaremead ffEm-82" I Tgeigan
SHRATS FIE U5l 9 Y] ST BT Tk TYI<AT HIUSTHIAT AT/ fhaT T T FAR THHAT CST=AT
forge o= g

(9) FE YFUCIHES) AT g Fereh 9o HUeaHa IUSTRIT & TEHYETeh T st TaTHaTs
U3 0 A 3772, AT Thiel HATETet AvaTge| SHEaRM SATUean STl URT-1 THaehihe
7 fereran uta *0) navas IR,

Q. No. 201.

AT 3
Pick out the correct word to fill in the blank :
| congratulate you your grand success.
(1) for (2) at
(3) on (4) about

. sh. 201.

T YEE I I 4(3) on”’ I AR, HS AT THH I 4(3)” Bt A
GOSN F 3. 201 FARE I-AF “(B) 2 dds [0 BRIfhd e
A JEvES AR,

O @ @ &

I UG e Tegfaehdiel Teish TeATE1 QAT IUL-3hHTh &1 qralell Sasdiea
Tiacied ITWERald = &1 TH-FHREIRS Ho(4d dde8 U0 BRIMhd HEd
TEETET. FTEhRAT therd Hied1 MY et IO, 9fe a1 vEs o= aae 13,
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